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Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 42

Number of Questions to be attempted : 42

Section Marks : 100

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 5521311345
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 55213115427 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Main purpose of giving home work 1s that the students
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Options :

Remain busy at home.

s08 53 36° WP sorTRE
55213160601.

Study at home.

208 58 SO S0
55213160602.

Their progress can be enhanced.
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(B8R DorofoSH DD
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Develop the habit of self study:.

%Lhcri, ©LraHE eIt DosrohoSERE
55213160604.

Question Number : 2 Question Id : 55213115428 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

From the list given below 1dentify the leamer characteristics which would least facilitate teach-
mng-learning system to become effective.
808 & oD eFmreD JonoGod s (DB DirhHESE® ©8 8%
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Options :
Prior experience of learner

@“‘n"*’ 0N 118 S0
55213160605.

1

Leamer's famuly lineage

OFPIHHR Henom FEIGT THE0
55213160606.

Aptitude of the learner

PR Jfre TP
55213160607.

Learner's stage of development

OIFRRN R BY
55213160608.



Question Number : 3 Question Id : 55213115429 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

On the basts of summative tests, a teacher 1s mterpreting students, performance m terms of their
wellness life style evident m behaviour. This will be called:
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Options :

Contmuous and comprehensive evaluation

¥elel-IoR AT [ REvbbilapgel=thle

552131606009.

Normn - referenced testing

Daree el E:Lﬁ
55213160610.

Criterion - referenced testing

Ceﬁw BT - 0POHE 80N
55213160611.

Formative testing

Er=ses HEF
55213160612.

Question Number : 4 Question Id : 55213115430 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



A teacher shall inculcate social and moral values among students effectively by
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Options :

Delivering lectures on values

Lenew e,-.*""'ﬂ“wc' ““*r::‘io

55213160613.
Showing TV programmes
8. D. 5"’5“ ;w:':'ﬂﬂ Sevireletalale)
55213160614.
Involving students actively in co-curricular activities
Do J;ars; SEESrE rrideEnesh Iabto
55213160615.
Observing religious festivals
SDHNBEIR Dothrien xdhdio
55213160616.

Question Number : 5 Question Id : 55213115431 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Which of the following doesn't belong to key behaviour in effective teaching?

BoQAS® (HrrdHosiod S5 Sonofod &ire (HIEIH Josa.

Options :
55213160617.



Instructing students to copy from black board
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Instructional variety

et PO

55213160618.

Questioning

DosStio
55213160619.

Using student ideas and contribution

Do &SI 0 IO DAEFNoSEo
55213160620.

Question Number : 6 Question Id : 55213115432 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following research types focuses on addressmg an immediate problematic situation”
& 8ol & $0 e 850 ) s‘iéa’a:ﬁs $ode D08 BB,
Options :
Applied Research

508 HoSBES
i

55213160621.

Action Reserach

55213160622.



Experimental Research

BRFrES B0TES
55213160623.

Fundamental Research

BES DI
55213160624.

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

2
5521311346

Yes

Question Number : 7 Question Id : 55213115433 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following doesn't affect research ethics?
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Options :

Faulty research design

EPH ot Don KOS Sors
55213160625.

Choice of sampling techmique

2SI DYS woBs
55213160626.

55213160627.

Ty s, - A e, D ]
LY (8IEP20 SR
[ =



Reporting of research findings

HOSFE Do JTDoSto

Inaccurate application of statistical techniques
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55213160628.

Sub-Section Number : 3
Sub-Section Id : 5521311347
Question Shuffling Allowed : Yes

Question Number : 8 Question Id : 55213115434 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following, reporting format 1s formally prescribed?

B0l =S 2 TGS Jdoed (Reorting Format) & e@§se050rr $r0035%:?

Options :

Doctoral Ievel thesis
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55213160629.

Master level thesis

208 BIS drpod (oo
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55213160630.

Post-graduate level dissertation

2. 8. Kpow AEORT
55213160631.
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All the above

e

55213160632. — =

Question Number : 9 Question Id : 55213115435 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following 1s an initial mandatory requirement to begin research?

DOFEID |FrBodosmRs SDTR0P S0othrr SFINRE 07

Options :

Developing a research design

HOSES S Srfrodiosto
55213160633.

Formulating a research question

05 G (HE Erdrofiodto
55213160634.

Deciding about the data analysis procedure

Szpod DFRee (BB Erdrotiostio
55213160635.

Formulating a research hypothesis

HOTER BoBY)He 0ot
55213160636.

Question Number : 10 Question Id : 55213115436 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following statements 15 true i the context of the testing of a hypothesis?

S08e)5e $080uwas Bl RE° O (HBARE KOO

Options :
Only the alternative hypothesis can be tested.
webRaS 205gKeh SrEh B§ouhay)
55213160637.
Only the null hypothesis can be tested.
e HOZORPORD SrED HEZ0SD5D)
o (=¥} Cov
55213160638.
Both. the alternative and the null hypotheses can be tested.
0l I83 Hodn S HoseFot BEFoWH
55213160639.
Both. the alternative and the null hypotheses cannot be tested.
so8IHS HOAL Py BoseFOD HEZ0SBIW.
55213160640. - &
Sub-Section Number : 4
Sub-Section Id : 5521311348
Question Shuffling Allowed : No

Question Id : 55213115437 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : Yes

Question Numbers : (11 to 15)

Question Label : Comprehension



This episode took place in August 1950. The Cold War was in its early stages. with the two
superpowers in eyeball-to-eyeball confrontation that threatened nuclear catastrophe. The People’s
Republic of China. which had just emerged from a bloody civil war and was seen at the time as the
Soviets’ closest ally. was prevented from taking its permanent seat in the UNSC because of
Aanerican opposition premised on Cold War logic. Furthermore. war was raging in the Korean
penminsula. with U.S. and allied troops locked 1n fierce combat with North Korean forces supported
by China and the Soviet Union.
Nehru was trying to carve a policy that ensured India’s security, strategic autonomy and state-led
industrialization in these very dangerous times. He was well aware of the tact that pushing China
out, as the U.S. wished to do. was a recipe for perpetual conflict that could engulfall of Asia. To
him. the Korean War appeared a forerunner to more such conflagrations in Asia that could even
turm nuclear. The U.S. had dropped nuclear boimbs on Japan only five years ago and many observers
believed it would not hesitate to do so again in an Asian conflict, especially since nuclear deterrence
had not yvet become a recognized reality. Nehiu did not want India to get embroiled in hazardous
Cold War conflicts and become a pawn in the superpowers’ great game risking its owmn security.
Nehru’s approach to China was dictated by real politic and not wishful thinking. He understood
that peace could not be assured in Asia without acconumnodating a potential great power like China
and providing it with its proper place in the intermational system. Moreover, China was India’s
next-door neighbour and it was essential for New Delhi to keep relations with China on an even
keel and not fall prey to the urgings of outside powers. the U.S. foremost aimong them. which were

following their own agendas that had nothing to do with Indian security interests.
11 o0 15 3555 o (050 DooDodDD @"ééa::eﬁzﬁ:: St |BoD 25532808, & Ten B eosToy
a:&_:,é @6%_,3_@3 'aécga:&(‘éga, [OS 2ezmrensd LoDED orchob.

1950 Uﬁgg@s Sz DOZVEID BONOD. P CEOGo Er508 SFS® e S0 @, @ DoSTEo
BOOOD DHTOTHDHOET Toth @i Trermgen DG HDIHEHTTOW. DT WONPE S5 O5SS08° 58S
®osdpo Dol DG DoD FEDCHES corD oDl ooy BYNETS (B TreTge JTIHS DODod. S=
s*Seeor™ [ocgo UNSC ool %’%&é ‘K:aiée:éso ©DOSE0. oD oI eoTHose (BTN Hob. mose
CE0E BPOTPDE sTmEH 5800 sfacie &sééag:oés_ eoTDOSE Den DBDSHES SHEDSHS Sogges '33;,3 feyrte]
Sfocir Serod® S DoresoST DIDINED D& TIJrDEob.

Ha (DIoSSS éé%é\)@é‘s DSEo= aus @’Jéééézé @oéq‘;édﬁ: Domore DorSo ool eStDod
ETSEEE BIOES oOSED FeEFEES HoHo BHEDJSE ErES woStrlcd DEE FETFore Doy
BEIDBO0E FO|IECInESGese D SIS OB oSS (EOHE0TED. DR (350 DLRE0 JoD i) esfae
Toros® DSosSo 2207 el THRS DT D8 other DVTRODD ©=cHSS e Benid. SSoaie
PO weBod e DSt St sorod JognerdosH wrodhPey wohss S5H&on. U.S.
085 DoDHT O (BSO 22553 ©earcing erroeni (BHRoDos Hodadn 20T EE oS S mose
DGO S5 TERNS0 STS0IHNS, esRaiTe Bosndes SOSeg00B U.S. eormeoroenen JCHS50y el $5ensHsd
HOBDBoen g DERTIED. (BHDITESSSTD (5 cinten erod DSOS grSSHE0o Bnto Soocsn
S8 D) DOS® Bendrsiyr S0 8% PSS (BES LOSE IGTcHero waHHE Sgo B.
fned DRSSt DSEro= 0SB0 o DD DEB DeSo Deaszns Tresfch S5eHBBSS KBS D SLT::-.&%"CSO?T"
5050 Do . DY Hod FEIJoSTS BB D) oo BOyoSHons, @oé'q;e’sacﬁ:
éééé:@":’ o8 [WoS %;m&;.\ SOOOBTEOET esROITT POEOST FFOH &H(EHen SEHODSTIHND D ®go
DroHTND. ©oBSE DoE g OSGBT0 i) TEHiID BE0. DS Do0oTEeORD STHEENOSEE0S8 Sogdas
et 18 @355880. serod aﬁs%eﬁ:e:@‘s THOST [SS Tresge e HseTTen HoRe St s S S o

o585 TS 255 S B BoxoHoDD DRSS Doeoho DEIoT $5 Dods esEoeio eE5a08.

Sub questions

Question Number : 11 Question Id : 55213115438 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

According to the above passage. which one of the following lines is correct?

2% 2adE FEorio [Po & (Bok TS A0 IBIN?

=

L]

Options :



Nehru tried to elude the Cold War clash to show his identity and become a pawn in the political
SUpIEMAcY gane.
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55213160641.

Nehrunever tried India to get mnvolved m treacherous Cold War fight because of fear of War.

ot gabo e I Apisr P68 $F 06° SR $0otd.
55213160642. .

Nehm's endeavor is to become closer with US as 1t 1s the superpower in the World and he did not
want to disturb the big counties in Cold War clash.
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Nehrunever desired India to get misky Cold War clash and become a puppet among the counties
who fight for a supremacy position.
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Question Number : 12 Question Id : 55213115439 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

The paragraph suggests that Jawaharlal Nahm was a

D Y, orrd) e k0ol wNirlerd e a8

Options :

55213160645.



Smmer
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Great politician
o5 P8 cresfang
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55213160646.

Cowardice

D08
55213160647.

Good policy maker

s0od) Pre BRHEE
55213160648.

Question Number : 13 Question Id : 55213115440 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

The Cold War was a period of geopolitical tension between

S8 T FIFeS Q58 oo

Options:
The Soviet Union with 1ts satellite states and London after World War IT

Botés (Do dnio &Tmd ©otid H0RE Oy AN CrdADR TR &R gk H0RS
55213160649. S @ S

The People’s Republic of China with its satellite states and the United States after the First World War

55213160650.

55213160651.



The Soviet Union with its satellite states and the United States after World War IT
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The People’s Republic of Chma and Japan with other countries and Soviet Union after World War IT
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55213160652.

Question Number : 14 Question Id : 55213115441 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

The United States detonated two nuclear weapons over the Japanese cities of Hiroshima and
Nagasaki n

20T Wl SIS e S0k e Both O ANCPORD Saehodod.

Options :

1943
55213160653.

1944
55213160654.

1945
55213160655.

1946
55213160656.

Question Number : 15 Question Id : 55213115442 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

Nehm favoured over India for permanent membership in the UN Security Council,
UN ¢ft5ee sootsDe? &8 g 80 Wduasnft\ TR0 TR o= ) NdBoTS.
Options :
11,8,
©DCse Sodns oelgpen
55213160657.
Chma
e
55213160658.
Soviet Union
DA CrddhR
55213160659.
Korea
Sgelevi
55213160660.
Sub-Section Number : 5
Sub-Section Id : 5521311349
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 55213115443 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Communication always takes place within

55008 ES Qgd)te 23%rHe0s
Options :
Two persons
2R e D
55213160661.
A context
2.8 Bosod®
55213160662. -
External only
(IO SRS
55213160663.
Internal only
Eoépér::rw?ﬂ
55213160664. '

Question Number : 17 Question Id : 55213115444 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Any effective classroom conumunication must be

SEHBHOE® & BDEHoSTS S ISR S0,
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Options:
Syllabus centric
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Student centric

XrGoél Soorr

55213160666.
Classroom centric
=085 Solore
55213160667.
Culture centric
%o 8 Sogorr
55213160668.

Question Number : 18 Question Id : 55213115445 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of these is not mandatory for effective communication?

o
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Options

Understanding

oo ToSSKo
55213160669. '

Politeness

ST S
55213160670.

Listening

Do

55213160671.



Ambiguty

Lofiis
55213160672. o

Question Number : 19 Question Id : 55213115446 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following is correct?

800 >&S° D& JBIL?

Options :
All gestures can have same meanings in same cultures.
Domen oy $od Wed’ ot ool DA Ssotrow.
55213160673. = = i R
All the gestures can’t have different meanings in different cultures.
Sogen o Bo¥) Hed® &8 el 500 S0k,
55213160674. -
Some gestures can have different meanings mn different cultures.
Q) Kogen DY) Kok j@eod® Tt eped DN sotran.
= bl bt .
55213160675.
Some gestures can have same meanings in different cultures.
Q) Bogen HIF) oK) Hed® o oress SDN sotrow.
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55213160676. *

Question Number : 20 Question Id : 55213115447 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following :
& B0l & 2858508 ¢

List-I List-II
=ee-1 =im-11
1. WhatsApp a. Mark Zuckerberg
el ess om0 5008
™ = ¢}
2. Google b. Sundar Pichai
rorred ool Doedh
3. Twitter ¢. Jan Koum
&re8 PN Ton
4. Facebook d. Jack Patrick Dorsey
o] =8 F@S &°6)
Codes:
6y
Options :
1-d. 2-b. 3-a. 4-c
55213160677.
1-a. 2-b. 3-d. 4-c
55213160678.
-c. 2-b. 3-d. 4-
55213160679, 1 270 3-d. 4-a
1.b. 2-a. 3-c. 4-d
55213160680.
Sub-Section Number : 6
Sub-Section Id : 5521311350
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 55213115448 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Two taps ‘A" and ‘B’ can fill a tank 1n 20 and 30 minutes respectively. There is an
outlet °C”, If all the 3 pipes are opened, the tank will be filled in 24 minutes. The
time taken for *C" alone to empty the full tank 15 ( m minutes)
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Options:

22
55213160681.

24
55213160682.

25
55213160683.

28
55213160684.

Question Number : 22 Question Id : 55213115449 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

Geetha will reach her office 15 minutes late by walking at 4 km per hour from her
house. The next day she increases her speed by 2 kmph and reaches in time. Then
the distance from her house to office 1s ( in km)
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Options :

3
55213160685.

4
55213160686.

D
55213160687.

6
55213160688.

Question Number : 23 Question Id : 55213115450 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

23. The price of 60 articles 15 Rs. 20 each. 20 articles were sold at Rs. 24 each. To get
an overall profit of Rs. 5 per article. the price of the remaining articles be sold is.
60 S0 O e 2883 e 20 . 20 SWHen (e 2883 Er. 24 THpd
B0, 198 2.8 &r. 5, €730 SPodERE DAOY SNHeN 2.538) TR
9020900 OO

Options :

55213160689.



24.5
55213160690.

255
55213160691.

28.5
55213160692.

Question Number : 24 Question Id : 55213115451 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The average weight of 40 ttems 15 15 gm. When the weight of the basket s added
to the weight of balls. the average increased by 0.5 gm. Then the weight (in gm) of
the basket 15

40 Qo)
SB0oDSH P DED 05 M DEHHR0E. @3y 28 Tod) 28 ([FsHeS)

Options:

15

55213160693.

55213160694.



55213160695.

40
55213160696.

Question Number : 25 Question Id : 55213115452 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Missing group of letters in the following sequence 1s

nt l"'E' ] (=) W, W -
808 15006 S oD @5 T HaXTT0

QYCD: PXEF, . NVI1I], MUKL
Options :
JPRI
55213160697.
QBBIJ
55213160698.
RRMY
55213160699.
OVGH
55213160700.

Question Number : 26 Question Id : 55213115453 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The following venn diagram represents the number of persons who know different

languages. Then the total number of persons is

800 30 D0, DG 27100 BOVS SO NOD2D APDN0D. @I P NS0

}
-

22500 00§

Options :

18425
55213160701.

18481
55213160702.

18721
55213160703.

18656
55213160704.

Question Number : 27 Question Id : 55213115454 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The missing number 1n the sequence: 36, 31, 29, 24, 22, 17. 15,
D50 SHodd Howe 36, 31,29, 24,22, 17, 15,

Options :

13
55213160705.

12
55213160706.

11
55213160707.

10
55213160708.

Question Number : 28 Question Id : 55213115455 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

If ‘P + Q" means ‘P 1s the father of Q", ‘P # Q" means ‘P 1s the brother of Q"; ‘P -Q°

means ‘P 15 the mother of Q”, then which of the following 15 true about Ax B-C+D
'P+Q' O P Q8 #od ;' PxQ @0 'P' Q) TE) AFODC; P-Q OST P Q’
B8 3O . Iy Ax B - C +D§ [Bod 85 A Ao

Options :

B is the son of A

B, A 3% §%%
55213160709.

A 15 the uncle of C
A, C O35 23723700 / add®end

b
iy

55213160710.



B is the father of A

B. A Gw¥) $old
55213160711.

C 1s the mother of B
C. B 3B, &6
55213160712.

Question Number : 29 Question Id : 55213115456 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Statements: The average number of persons per household 15 5 m urban areas
whereas 1t 1s 7 in rural areas. The national average s 6.

TS0 ([P Posed Hfiend 25208 7508, AT oz Hien 5
500 &) &. 2 e 6.

Conclusions; I The population per unit area in the rural areas 15 higher than in the
urban areas.
S0A0:L 98 [Foare $oT) [P (Foad 1 AHFNE 2T ST &0

II. The average number of persons per household in the rural areas is less
than the urban areas.
I [P Froeee fyTo Gng) Sede Miien do9; H8m Froee &)

b T A
@é‘u;;o.‘.ﬁ‘ @08

Options :

both I and IT are true

SNVleleV 2udd
55213160713. Lepooe oy

I 1s true and IT 1s false

I 2dp 06k O &5
55213160714. 7 Y



I 1s false and II 1s true

[y NOCID IT ey
55213160715.

both I and IT are false
Ivéoy é@a
55213160716.

Question Number : 30 Question Id : 55213115457 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

M 1s brother of N. O is the father of M. P 1s brother of Q, and Q 1s daughter of N. the
relation from M to Q 1s

M, N Q%) Fd%ch; 0, MO, Sod P, Q3% &Sk SnBCk Q N T3E),
502070, M D0G Q5 do20do

Options :
Mother
55213160717.
Father
08
55213160718. ey
Uncle
o L ) R B
55213160719.
Grandson
o) e ey Cad

55213160720.



Sub-Section Number : 7
Sub-Section Id : 5521311351

Question Shuffling Allowed : No

Question Id : 55213115458 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : Yes

Question Numbers : (31 to 35)

Question Label : Comprehension



Note: The questions Q. 31 to Q. 35 are based on the following information.

Ha: (349200 Q31 b0 Q.35 SO, 808 Narardo edormr &) Q.

The total Profit and Expenditure incurred (in lakhs) by a company during the financial
years 2013-19 1s presented in the following graph. Assume that in each financial year,
Income = Profit + Expenditure

2013-19 880% H038 TS 502d IS0 erzren HBAD Py (OFOS) &

506 BrdssnS 3052800, 198 808 H0s81808, S0 = erdo + 55000

ook,
a5 s Prfil === Expenditure
)
40 38 ! 37 P
30
30 35
25 28
27
20 o
‘ YO -ul
15 18 \12/ 19
10
5
0
201314 201415 201516 201617  2017-18  2018-19
Profit & Expenditure of a Firm

Sub questions

Question Number : 31 Question Id : 55213115459 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes



Correct Marks : 2 Wrong Marks : 0

The total Income in the financial year 2016-17 (in lakhs) is
2016-17 e30¥ 0053506 JSBO 70RO (O F )

Options :

30
55213160721.

40
55213160722.

28
55213160723.

16
55213160724.

Question Number : 32 Question Id : 55213115460 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

In the year 2014-15. the percentage of expenditure incurred over the mcome 1s
2014-15 Q0N TNE, &Tr000D I Yo ) TS0 __

Options :

28.75
55213160725.

36.25
55213160726.

28.64

55213160727.



38.46
55213160728.

Question Number : 33 Question Id : 55213115461 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

The percentage of profit increased m 2015-16 when compared with 2013-14 1s

2013-14 & FOV, 201516 ¢S erdio____ 7eh0 DOA0HO.
Options :
12.0
55213160729.
28.57
55213160730.
40.0
55213160731.
32.35
55213160732.

Question Number : 34 Question Id : 55213115462 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0



In the six financial vears, total percentage of expenditure in the income 1s
; b — a o ¥
&3t @08 D00 TY | JNB0 BIIFON0R Bl )0 DA ) T°ed0

Options :

38.22
55213160733.

61.78
55213160734.

61.86
55213160735.

28.75
55213160736.

Question Number : 35 Question Id : 55213115463 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

In 2017-18. the total profit (in lakhs) 1s

- - = = - ol
2017-1865 D[S0 ero (@ F )

Options :
20
55213160737.
55213160738,
19

55213160739.



18

55213160740.

Sub-Section Number : 8
Sub-Section Id : 5521311352
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 55213115464 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Who mvented the high level language “C™?

83 A O S0 d5H?
Options :

Denmis M. Ritchie
55213160741.

Niklaus Writh

Qe DG
55213160742.

Seymour Papert

arD 500
55213160743.

Donald Kunth

a‘mg %o
55213160744.



Question Number : 37 Question Id : 55213115465 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

‘Which of the following 1s a serial bus

i, = £ = B S gl al l.l—-:
8ol =EE° D& VO 2R

Options :
55213160745. L

ISA
55213160746.

USB
55213160747.

GPIB
55213160748.

Question Number : 38 Question Id : 55213115466 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

What does the acronym POP stand for?

PoP &=C &30
Options :

Post Ofticed Protocol
B gof

D sHRE |@fisd
55213160749. =

¥



Post Office Protocol

ai=d o, = £ s=B
PR VIR FED

55213160750.
Post Oftficial Protocol
BT odhdchd DP=S
55213160751. S
Postal Office Protocol
LS ehn @‘E'é.fﬂﬁ
2 .
55213160752.

Question Number : 39 Question Id : 55213115467 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

FTP stands for
FTP o

Options :

File transport protocol

S 58 (PeFsE
55213160753. = VTS S

File transfer protocol

1:"6-
a?ﬂ

6 (2555 DS S

55213160754.

File transit protocol

55213160755.



File tracking protocol

¢ tr30R @S
55213160756.

Question Number : 40 Question Id : 55213115468 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following 1s UGC mutiated network of university libraries

UGC Zntien ES 420700 (forre ACI8), &2 Bod =ES° 207

Options :

mnflibnet
55213160757.

infonet
55213160758.

ermet
55213160759.

mdonet
55213160760.
Sub-Section Number : 9
Sub-Section Id : 5521311353
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 55213115469 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

An annual event that is observed on July 11® of every year is

28 JodF %o 278 113 2B ED 08 o8 Babaw

Options :
World Environment Day
BD0S Hotte R0
55213160761.
World Forest Conservation Day
BDHoS e Sobger L
55213160762.
World Population Day
(BN amrgre LHdam
55213160763.
World Food Security Day
DD0S e35BY E5e DI
55213160764.

Question Number : 42 Question Id : 55213115470 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The largest wind farm of the world 1s

IV (BBOIYH mOIFID SoEiEm

Options :

Mancelona Wind Farm
SN mORPIDH Solism

55213160765.



Ganso Wind Farm

NS mOrrh SolEsan
55213160766.

King Mountain Wind Ranch

3oh STo8R md Tron
55213160767.

Jagur Creek Wind Farm

P8 (85 mOFrrH SolBsm
55213160768.

Question Number : 43 Question Id : 55213115471 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s chief pollutant of Bhadra river in Karnataka ?

Srs6°0 Ylorsh Senhiprdd (Hors seendy o880 & (Bod =8¢ da?
= o = ]
Options :

Indraprastha power station effluent

BOlGHD HH8 DETH0d DHGSeDr Sends B
55213160769. 9 = 2

DDT from pesticide industry

1830 RHosBEE HBOIBSD ~vod) tﬁ@:ﬁ:"-:; DDT
55213160770.

Paper and pulp from Paper Industry

NS HOFD Sood Doy RS0 0ok ey
55213160771.



Fly ash and jute from jute industry

2235 T8 HOES o8 JHGeTr N0 e, esddw
55213160772. =

Question Number : 44 Question Id : 55213115472 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Which of the following do not support soil erosion ?

=

& 8ol TRS° HB WSS FED S°)Kck?

[

Options :

Over grazing

©8MT o0
55213160773.

Shifting cultivation

oz SPBRRE D Dabéo
55213160774.

Forestation

©agen oD
55213160775.

Faulty cultivation practices

SPhzirong Ferd Dden

y g [

55213160776.

Question Number : 45 Question Id : 55213115473 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

Which is a baseless beliefregarding HIV transmission?

B0l =Q&° HIV {(EnDd egrdo ©
1 A

mo
1 Infected blood

06 P83 850
m.  HIV contaminated needles

HIV 3 Senhifo 308
iv. Mosquito

&

e

o
Options :

11
55213160777.

11 and 11
55213160778.
55213160779.
55213160780, 1AndV

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

b !
[

NRNSED &7

10
5521311354

Yes

Question Number : 46 Question Id : 55213115474 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Indira Gandhi National Open University (IGNOU) was established in the year

S0NTrPos eéas 88 & duredho (IGNOU) ~r20dy $od8)8o

Options :

November 1986

Haond - 1986
55213160781.

September 1985

'FJT';'&O::E - 1985
55213160782.

December 1987

&moob - 1987
55213160783.

December 1988

=momnG - 1988

55213160784.

Question Number : 47 Question Id : 55213115475 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following is Not a goal of hugher education in India?

el

8ol RS° EETE a8 Doy oo AR AQ?
Options :
Equuty
RerNgro

55213160785.



Relevance

TEWEO
55213160786. =
Compulsory and free education
o8 &8 Iy
55213160787.
Value based Education
Denaw ogrld A
55213160788.

Question Number : 48 Question Id : 55213115476 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Value Education stands for

DY et = endy VR i )
TR A VD mg{’ir\ﬁ__:'ﬁu;

L&)

Options :
Making students follow customs and traditions of the society
TFarEs ol Aroldrdireid aﬁm;rﬁrg@: ©000HHER D0
55213160789.
Enhancing student employability
Do TEHNS %ﬂéaq_:;aa 2osroliodtio
55213160790. '

Inculcating virtues and culture to students

“m’tfgz'aﬂu 00y [odnsHR Em;éga:éﬁ penlsto

55213160791.



Making students to understand religious values

a8 JOoDOGIN VLIS LTHE) VIMPPR DrEDED

geb ) SCI0E
55213160792.

FaL
L

Question Number : 49 Question Id : 55213115477 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The grounds on which discrimimation in admission to educational institutions constitutionally not
prohibited is

APRoRE (3508 KonoGod TremorIsIN ago 89 eodo,

o

Options

Religion

vz lo)
55213160793.

Sex

oo
55213160794.

Place of birth

55213160795. =

55213160796.



Question Number : 50 Question Id : 55213115478 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Sam Pitroda served as:

- -
-

B 55D ~ = ot T D
Thew Al @ SRS SRJRTH

Options :

UGC Chamrman

DL ITEAPY TPEPY V00 BTN
55213160797.

NEKC Chaurman

- >, "

e TB6 Dono efrsen
55213160798. =

Director—NCTE

PED T T Dold ©FiHen
55213160799.

Chairman—NCERT

S Do 0T BZe B0 ofen
55213160800. :

HINDI

Group Number : 2
Group Id : 552131204
Group Maximum Duration : 120

Group Minimum Duration: 120



Show Attended Group?:
Edit Attended Group?:
Break time:

Group Marks :

Is this Group for Examiner?:
Examiner permission :

Show Progress Bar?:

HINDI

SectionId :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

No

No

200
No
Cant View

No

552131204
1

Online
Mandatory
96

96

200

Yes

0
1
5521311355

Yes

Question Number : 51 Question Id : 55213115479 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Figtg T * fiweT, 9 By 7 a7t 2, a7
29 ST ATHIYT, FT FAT AT Z||' T2 T
ST F feET =T 2 2

Options :
55213160801, T A% A

55213160802, HAT ATHA
55213160803, ATTH AT

55213160804, 17 T¥iH

Question Number : 52 Question Id : 55213115480 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

'IF TF AT A7 T AT H q9F q9E 1 T

It T A9 21 T g, T HY 1 5

H F12 A1 (o 1% | F99 5 sr=maEe 7

GELE A
Options :

55213160805, T1ST A< 1=

FTEAT = THaTe =T

55213160806.

55213160807. i

55213160808.



Question Number : 53 Question Id : 55213115481 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

R TR era s R s AEm g g ?

Options :

55213160809, 1AT =7

55213160810, TIZTHT =T
55213160811, STI°1 =

55213160812, 11O =1

Question Number : 54 Question Id : 55213115482 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

FHTS T FT (HAHTH 560 ATHT H AT F1AT 2 2
Options:

55213160813, ATATTET ATHer
55213160814, A1 ATHT

55213160815, T AT



55213160816, OIS ATHT

Question Number : 55 Question Id : 55213115483 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

ATZ=, Torer wer orreer & =% 9T F57
FIT HT HAT & AT G 2

Options :

55213160817. = i

55213160813, 1A

55213160819, =111

55213160820. l

Question Number : 56 Question Id : 55213115484 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

"gop & oft e F T LA | Ty A o SR AT 2
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Options:



55213160821, AT AT

55213160822, &2 14

55213160823, 4 qF Lal™

55213160824, IT==HT

Question Number : 57 Question Id : 55213115485 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

"THTAH" THEE F (69 95 5T 7 FEr
AT GATE ?

Options:

55213160825, T T SATTHAT

.

=
=S T Zeal

55213160826.

55213160827, S L BHIY

9 THT F 29 7979
55213160828. < = Al

Question Number : 58 Question Id : 55213115486 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Options:
55213160829, T qeTe ?%

55213160830, 1T F1 A1 T

55213160831, T F 9

wfeg et FrerEe

55213160832.

Question Number : 59 Question Id : 55213115487 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
A T T FT AT AT 2 ?

Options :

55213160833, A L2

55213160834. AT

55213160835, T o

55213160836, 1%

Question Number : 60 Question Id : 55213115488 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

To MTVE 79T "Za AT JS5THT T EI-_;;"IT-H" Edl

T AT TATST -

Options:

*,
55213160837. 1877 =

55213160838, 1688 %

55213160839, 1870 %*

o
55213160840. 1882 =

Question Number : 61 Question Id : 55213115489 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

-

T AT AT AT SR F R FET F AT
g2

Options :

55213160841, 11 JATAT HATH

55213160842, 117 AT

55213160843, L& w14

55213160844, AT=14



Question Number : 62 Question Id : 55213115490 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
T T F AR TR E -

Options :

55213160845, & 77 qTe= T

55213160846, WATT AT =1

[ ~ #
cc213160847. TTOT TeraaTE AT @

TITST ST TarETAT

55213160848.

Question Number : 63 Question Id : 55213115491 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

B L IEaL R R T

Options :

55213160849, T17°

55213160850, T9TE T

55213160851, % l



55213160852, <TeTsi

Question Number : 64 Question Id : 55213115492 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

FAFT TATE F T 6Ug FT FATTATT TR
Options :

55213160853, FOEATH, ATFTIETT, A, TeEwTer
55213160854, = =911, AT, ATy, ArwTeaT
55213160855, e, AT, ArFTAETT, TRISAT

ATFTITET, ATefT, TegeiTer, Wiaeat

55213160856

Question Number : 65 Question Id : 55213115493 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
#;E?

T FATE ? A A |

2 = s
T gET 189 g1 ?'

‘T FET, T g 7 | gr T |




Options :
55213160857, ATFTIETT

55213160858, 17 11"

55213160859, A G

55213160860, = =101

Question Number : 66 Question Id : 55213115494 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

UTEH TS FUHTS 7 T T9AT F qEAE 5 A
#FE?

Options :

o He

55213160861.

55213160862, =4 JAITEY

55213160863.

55213160864, ACTRIL THET

Question Number : 67 Question Id : 55213115495 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

THEE 71T "EETHATA i AT FTE ?
Options :

55213160865. 1=

55213160866. 1=

55213160867. =

55213160868, A 1

Question Number : 68 Question Id : 55213115496 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

TIF 37 Tx 77 AT FEHl R AT 22

Options :

55213160869, TCTd T AT

55213160870. g o=t

N - - %‘.
55213160871, Aaqaw AT TATE

T FET AT

55213160872,

Question Number : 69 Question Id : 55213115497 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

=T H AIE-FT2, ARTAAT, TEATE F T 75T
el TEAT AT ATAE HT AT S A

e TR H g ?
Options :

- - - é.
55213160873, S aqac A IEAT T
55213160874, ST T ST

55213160875,

'I:F-Iﬁ_.n'.- T

55213160876. ~

Question Number : 70 Question Id : 55213115498 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
AreereT AT T AT FTE ?
Options :

55213160877, TR

55213160878, N5

55213160879. FeTar

@.itq i

55213160880.



Question Number : 71 Question Id : 55213115499 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

THH H FIT AT F TS AENE ?

Options:

55213160881. THIETH

55213160882, 1 =1

55213160883, TTTa= FATHT

55213160884, oA =141

Question Number : 72 Question Id : 55213115500 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

HTeT T 921 219 Fis; FIE7 98 970 | 9797 T

Y T, F FAC TLET A || Ok WIeAvg * e
AEF A AT TS Z ?

Options:

55213160885, 17T 2291

55213160886, FET T



55213160887. At =

et == T

55213160888.

Question Number : 73 Question Id : 55213115501 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

"UF TA T ATHT HA FT ST g2 W4T 9T | T3,
oo, T, vy, HEE, T, Su9rIE-
T ESTHFTET F4T, T2 § A7 797 & g 0
T F 77 73 aFaT | "gH T HY, § 9 F9 |
FaFTFaTE ?

Options:

55213160889, H1aT w14l

55213160890, THATT ATTAT

55213160891, 7=

-

55213160892, A0

Question Number : 74 Question Id : 55213115502 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



'qi=F g SIS @ TS e S 2 ?

Options :

R
55213160893, 1 =I*l Itz Sk

55213160894, 1A= A1

EEIMEEIEREEEL

55213160895.

55213160896. o=

Question Number : 75 Question Id : 55213115503 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
'R i FT Fay e a8 2
Options:

55213160897, *THTAT TA=TH

55213160898. A FET

55213160899. RECIEE LR

55213160900, A 1A=

Question Number : 76 Question Id : 55213115504 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

"FATT 4 g weT Y gaeET F A §
& 7 qEuTS FT A T FerE aww_r g

T B ST FT AT ATAT § - e
qTEE F AT FTE ?

Options :

55213160901, =41 - & AT

55213160902, TS - SAEATAT
55213160903, - & - A x L

FEH - FTTET
55213160904.

Question Number : 77 Question Id : 55213115505 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

U AT A AT AT F AT !

A 3t 99, FTET e G=s T 219 2 T Uit
Options :

55213160905, JTOTTT0T 9THT T

EEG S -:1-1:5"&
55213160906, il bl



55213160907, *THA 4 (=TT

55213160908. SREAGAERIEIRE A}

Question Number : 78 Question Id : 55213115506 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

HZATIF F ZEIET FT 99T 2 -

Options :

55213160909, FFII<h [H#=Tm
55213160910, et g™

55213160911, = ATci® TS

55213160912, AT THAT

Question Number : 79 Question Id : 55213115507 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

A A THIHETE =4t F forT " oo &

Options :

55213160913. ="



-

55213160914, ' =¥

55213160915, “1=1

55213160916. o

Question Number : 80 Question Id : 55213115508 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

e F & F19 A7 TS THTATATS HHT G
TETATATE THIF TZTZ ?

Options :

ERRC PIEETLIEIES
55213160920,

Question Number : 81 Question Id : 55213115509 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
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Options :

55213160921. ERIR

55213160922, 1 =

55213160923, 737

55213160924, A 19

Question Number : 82 Question Id : 55213115510 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
'FET T, AT F TS AT T AT RAATE ?
Options :

55213160925, A~ 1T
55213160926, TH21T
TTATAT

55213160927. -

55213160928, =11¢



Question Number : 83 Question Id : 55213115511 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

qTEE THW T w7 e Freate | "ge
27
Options :

55213160929, =31 JoIT &7 fFrzia
55213160930, ALFC (1A

55213160931, 7 =T T

55213160932.

Question Number : 84 Question Id : 55213115512 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

i L . o e
AT TTHEE FT F ATATE FATATET FTTET

F TAAF FA FA T 7
Options :

Hfrettorer A

55213160933.

55213160934, A+ A=

. . .
55213160935, Sl Ti=T 99



55213160936, (& = ft

Question Number : 85 Question Id : 55213115513 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

"I FEd FT /AT AT
TEAT I ST AT R " AT AT O 2 ?

Options :

55213160937, 3¢ T

55213160938. & i

55213160939. ICER

FTHTIAT

55213160940.

Question Number : 86 Question Id : 55213115514 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

"HTE FE ATATE / T AL AT E /9 H 0A% /

TIET AT g FAT: [ FF A9 Afeqes 71 " T
T AT WA AT F FE T w2

Options :

55213160941, A AcATH



55213160942, +1°%

55213160943, T4

55213160944, 14

Question Number : 87 Question Id : 55213115515 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

"FHT U T2-TE TZ AF ASA-ATT TTE AT F
AT, TAT | AT T FOT-AT TEAE TE,
st M=t /e & 3o 731 9%, 7291 g%
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Options :

55213160945, A=~

55213160946, TT7 17 A

55213160947, % TTH FT TF2Z HT 2T 3

55213160948, ST BICHT & ATHATH

Question Number : 88 Question Id : 55213115516 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
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e w4 2

Options :
55213160949, Slraaid

el

55213160950.

55213160951, <00

55213160952, <=

Question Number : 89 Question Id : 55213115517 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

HETSAT AT FF TIITET FT THT99 50 99 H

T?

Options :

55213160953. 1941

55213160954. e

55213160955. Lo

55213160956. e



Question Number : 90 Question Id : 55213115518 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Options :

55213160957, To&

55213160958, 5=

fagT

55213160959.

55213160960. =

Question Number : 91 Question Id : 55213115519 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

"TEET T F ATA-ATT S-S AL F
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Options :

55213160961, ATHIT il TETAT

Y
55213160962, T LR



[ # [~
55213160963, A1-ald T

55213160964, Fr STE HIve

Question Number : 92 Question Id : 55213115520 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Tt Frear FEg G e Fr e 2

Options :

55213160965, =97 AT T

55213160966. "'1]””’5

55213160967, T2 1 g

FEATIE T THE

55213160968.

Question Number : 93 Question Id : 55213115521 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

TH AT FT wA g ww Ay 2 2

Options :

AT

55213160969. "



55213160970, Tl AAATA

55213160971. T
FETeATT HE
55213160972. :

Question Number : 94 Question Id : 55213115522 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
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Options :

55213160973, A4 =

-\J-\;‘-u
55213160974, T

55213160975, 10 G_a!'%

AZFAT

55213160976.

Question Number : 95 Question Id : 55213115523 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

TTE-FEETE i qaTE A & AT 2 -



Options :
55213160977. Sl

55213160978. L THE

55213160979, TATHS St

55213160980, = Tor =Ad

Question Number : 96 Question Id : 55213115524 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

TAETT F AT 7% T aresmeTeE iy 32
Options :

55213160981. ARENECE

55213160982, TP ATH

55213160983, A=A

GILEIREC L

55213160984.

Question Number : 97 Question Id : 55213115525 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

'TFT | Fertarare IxeiT GF areweT =
AT E ?

Options:

q=r2aT

55213160985. =

55213160086, TF FEMI a2 AT

55213160987, T &~

55213160988. o

Question Number : 98 Question Id : 55213115526 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

T AIZAT FT TTEATAT AT FAT 2

Options :

55213160992. =

Question Number : 99 Question Id : 55213115527 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Options :

55213160993, BT T

55213160994, T <<l T3]

55213160995, A1

55213160996, TP

Question Number : 100 Question Id : 55213115528 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

AEFT F IIT A7 F Te2S § 719 TF 797 2 -

Options :

55213160997, TTETATT AT TTTH FT ATFATH

55213160998, 2= 11H =l HATLd ANTHA

55213160999, w17 *1 ATLT ANTHA

55213161000. =TT FT 9799 ANTHA



Question Number : 101 Question Id : 55213115529 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Options :

55213161001, T T[AT

55213161002.

55213161003, L HETH1

-

T ATEAT
55213161004

Question Number : 102 Question Id : 55213115530 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

TTITT 779 TEHET 7 JAT 79497 2-
Options :
55213161005. ™ * 9

55213161006, 1 & T

55213161007. ©



L - 9
55213161008. o J

Question Number : 103 Question Id : 55213115531 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

1992 £. ¥ fmer 1 srrdts oo e £ 2

Options :

= r
TETEAT FH]1

55213161009.

55213161010. R

55213161011, A514

55213161012. Rk

Question Number : 104 Question Id : 55213115532 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

erferfs === § 7 T F utgy e
THATE ?

Options :

O
55213161013, &' HILH sl



55213161014, TS “areae
55213161015, TTH=<4T &

55213161016.

Question Number : 105 Question Id : 55213115533 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

"It U7 ATFTIET" - ATATEAT FA F AT

Options:

55213161017, *1a-d™ HFA1

55213161018, [STAEATE A4

-

55213161019, [ AFTTATT TATEATA

THI FAT T
55213161020. =

Question Number : 106 Question Id : 55213115534 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

ﬁ-ﬂﬁw EI'J_{I"?-'\I' EERL %’ ?



Options :

T RIELE
55213161021. = ©

55213161022.

55213161023, FTI

55213161024, o

Question Number : 107 Question Id : 55213115535 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Ao STOTEr F7 9% (96T FTel % a7
AT FaT

1. AE a. AT ATEATT AT AT FIA
2. forerrerd T 9TFT b werEhE A1awT

3. =g c. HETFTATT ATTATIAT FTT

4. T d. 9T=h= 9T 9 ST T

Options :

55213161025, 1-C.2-b, 3-d, 4-e

55213161026, 17026, 3-, 4-a

- ﬂ- - ul -
55213161027, L~0: 2-C. 3-€. 4-d



e P B A
55213161028, 1 7C: 2% 3-€. 4-D

Question Number : 108 Question Id : 55213115536 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

ATEd AT HITAT |

L. o= g a. o
2. H = b, ©
3. gy =T c. T
- — d £
e. 7
Options :
55213161029, | & 270: 3¢ 4-d

55213161030. 1-d, 2-c, 3-b, 4-a

1-a, 2-c. 3-e, 4-d
55213161031.

55213167032, 1°C: 27D: 3-e. 4-d

Question Number : 109 Question Id : 55213115537 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

Rrterferm arferat 1 5% 737 39 & 979 gHie
FerT

1. e 2. TETE RS

TEATAT c. TrHrEATHT T A

et d. Frerét R
e. izt B =

T F wE AEeT -

AW

Options:

1-e, 2-c, 3-a. 4-d
55213161033.

55213161034, 1 ~d: 2-D; 3-¢. 4-a

1-c, 2-d, 3-e. 4-b
55213161035.

1-b, 2-a, 3-c. 4-d
55213161036.

Question Number : 110 Question Id : 55213115538 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Faterers org=t T S99 A= 9T=9F 739747

b e |
1. =f. TREHTC AH a. T AiEeT 1 AeiAn Fhaer
2. =t e b. fE<t AT 1 faT
3. =TI SeRH ¢. <t Amige w1 qare siag
4. =t 7g= iz d. & mrfEer =1 g e
e. TFY arfEeT T Arer=ATHE
FEEAL
TR A ARl AT -
Options:
55213161037, 170»27C: 3-d. 4-¢

55213161038, 1-C: 2-a. 3-b, 4-d

1-e, 2-¢. 3-a. 4-d
55213161039.

1-d. 2-e, 3-c. 4-b
55213161040.

Question Number : 111 Question Id : 55213115539 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Frafertem ot ffrs=T 51 59 v99+1 F 779
Tt it |

L. ey e a. s e =

2. gAtFaT= =T b. FroFitea=

3. T oz . FEHAA
4. T fra= d. FHo ==
e ST Jir=a
9 fl'ﬂ;ﬁ EETe % -
Options :
1-d. 2-e, 3-a, 4-b
55213161041.
55213161042, 172 27D: 3-8 4-d
1-a. 2-e, 3-d. 4-c
55213161043,
1-e, 2-b, 3-c, 4-d
55213161044,

Question Number : 112 Question Id : 55213115540 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



AAFTT T TEATITAN FT THHFE Ivg A0
- e ™y =, = [ . .
AT & ATH 7 qHOT HATT |

1. STHT 97 STHTT &7 . AT T TT7
=y 72T aerT

2. JEt AT AFAT I e b THE e
IHF w7 THe aar a7 o

St St F T T A o gquTe g
%quamm'démﬁmm

4. ATZETAT F FTET TEAE A d. =aFTAFRT™
a'ﬂﬁ‘cr'?‘?rﬁ‘%lmrﬂm qTieT T

r C
HHoORIY AN

THH 7 AwEf AweT § -
Options :

55913161045, 10 27C: 3. 4-a

S 5 2
55213161046, 1 & 27 3. 4-d

55213161047, 1 D:27C; 3-d; 4-¢

55213161048, 17 27D 3-2; 4=C

Question Number : 113 Question Id : 55213115541 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



RrerfRrfRre srefteTet #r gt et T

TETS T T FHIOT FAT |
L. Foror7 goTE g SR
s b. ¥ 1985
- A c. ¥ 1968
. ST AT d. #1971
€. #1964
& Tﬁ-qﬁﬁﬁ?%:_
Options:
55213161049, L& 27d 3-D. 4-a

55213161050, 1°C: 22 3-€, 4-d

e T 2 J
55213161051, 17> 2D, 3-a, 4-¢

1-e, 2-c, 3-b, 4-a
55213161052.

Question Number : 114 Question Id : 55213115542 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Feferras Tr-of =1 F7 39+ F&491 + 919

AT T |
1. FETAATT TABMAA] a. T

-

2. To7 e g amor 57 b. #@==T

3. =g T FFe 5 B
4. T T d. T T
B HG.'_-;Ei THT
== 7 A AT 2 -
Options:
55213161053, 1°d: 2°D: 3-. 4-¢
55213161054, 1°C: 27€: 3-b, 4-a

55213161055, 176 2-d. 3-¢. 4-D

55213161056, <2 270 32 4-¢

Question Number : 115 Question Id : 55213115543 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Rerferter awet =1 5o Faasm & garee

k]
1. Fﬂa'grﬁﬁ?ﬁ;%‘ i ﬂﬁ’gﬂ'ﬁ"ﬁ
2. fEeedt ZvaTe =T b. FTTFET A
3. oY A U= c. ATHAY g
4. Freghy b Fad d. @A 7 fHE
© FEfT T
TR 7 TR e -

Options :

1-e, 2-a, 3-b, 4-c
55213161057.

1-¢. 2-b, 3-a. 4-d
55213161058.
55213161059, 1°0: 22, 3-d. 4-c

1-d, 2-b, 3-a, 4-¢
55213161060.

Question Number : 116 Question Id : 55213115544 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



e FrewwTer Fr I T 7 At

T |
1. g FAT a. ST EET
2. TUREATT AT b. TE

3. FEAAET TATA AFAAT  C. UF AT T

4. TTEHIATETA AT d. T AR
- fHgw fF Fre
= s 7 T2 e § -
Options :
I-E: 2'3:, 3":: 4-d
55213161061.
l-d: 2'a: B'b: 4-e
55213161062.
55213161063, L& 270 3-a. 4-d
]-d: E'C: j'b: 4-a
55213161064.

Question Number : 117 Question Id : 55213115545 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



et arerwaT v a5
THATAT AT AT

1. o0 Fva7 a. Her2AT

2. vHTOT TAT b. T FFWT Ag AT
3. Ferts ¢. srTgE
4. A FTURTE d. FTHAFTIAE
S wgTaAT AAT
TAH | A5 w2 -
Options :
55213161065, = 0 2C: 378 4

1-b, 2-a, 3-c. 4-e
55213161066.

1-d. 2-c. 3-b, 4-e
55213161067.

1-e, 2-b, 3-c. 4-a
55213161068.

Question Number : 118 Question Id : 55213115546 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



frefertarT Fr=r-dfr & 5% w0t F71 qEe

T
. FATST AT &T T H a. Hqrerara
2. FATE AT IAT 9F TE 247 7E@TE b =T
4. S f T =57 AT 4 frawr
€ g+
THH 7 A5 AEeT T -
Options :
1-b, 2-c, 3-a, 4-e
552131610609.
1-c, 2-a. 3-b. 4-e
55213161070.
1-e, 2-b, 3-a. 4-d
55213161071.
1-b, 2-a. 3-d. 4-e
55213161072.

Question Number : 119 Question Id : 55213115547 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



oot F 99T 57947 F 97T I9F GEATH

AT &1 RO FAT |
1. 7sft AT W= w7 a. 1945
2. T arfEes e, ST b. 1893
3 faor e Y g A c. 1938
4. 7Tg 9T R g A, qE T d. 1927
e. 1910

A A waf AT T -

Note: For this question, discrepancy is found in
guestion/answer. Full Marks is being awarded to

all candidates.

Options :

i P it A=
55213161073, 1 C: 270 3-8, 4-d

55213161074, 1 27C: 3-D; 4-¢

1-b, 2-¢. 3-e. 4-d
55213161075.

1-b, 2-e, 3-d. 4-c
55213161076.

Question Number : 120 Question Id : 55213115548 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



T HTLTT T THTOTT HITAT |
L. erfirrst a. TTHgET (39T TaT
2. ®E AT b. FFTerE T T

3. ATIY @2 &I 99%9  C. WA / ATAAATarat
4. fET= Fir ofET d. FreTier ey game

e. HATTASITT T
AR 7 73 FEeT 2 -

Options :

55213161077, 1 d: 2, 3-D, 4-a

1-e, 2-d. 3-c. 4-a
55213161078.

1-a. 2-b, 3-e, 4-d
55213161079.

1-¢. 2-a. 3-b. 4-d
55213161080.

Question Number : 121 Question Id : 55213115549 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



G F1or ol Tva=ET 51 I % AT

1. T6 TR a. ATHE

2. T HFIEE . b, FAE
3. ffF Fva=TT c. HIAHM
4. et AFAETT d. Tt

e. WAL

Note: For this question, discrepancy is found in

question/answer. Full Marks is being awarded to

all candidates.

Options :

55213161081, 170: 27C: 3¢, 4-a

55213161082, L °P» 28 3-¢. 4-C

1-c. 2-b. 3-d, 4-e
55213161083.

55213161084, 1€ 2°C: 3-d, 4-D

Question Number : 122 Question Id : 55213115550 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



[ ¢ = =, =, =
HqIg o T3 T A= ST=TeT FT T oA

F R
L T2Y a. go e
2. T AGY TICEFT b, AT 90
3. e c. T grETET
4 i d. ofyorr forer
© F=AT o7
TAH | Fel A%eT § -
Options :
]-d: z'e: 3'3: 4-b
55213161085.
55213161086, 17 272: 3-d. 4-¢
55213161087, 0 278 30, 4-c
]-c: z'a: 3"3: 4-b
55213161088.

Question Number : 123 Question Id : 55213115551 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Rertors T=9ATa FT 59 Tegd AT & AT

1. mq‘;ﬁg‘r a. FTAT |T FT Fiead aAT F7
feraT =T |
2. FEET FIEA T DT F FATHT GTASE FT
HraAT IF AT
3. FgTe T eI C- JTHA & UF 7 Je1 At
4. wfrag d.fE=wr ar=maT, AT,
THFTIL T AATAN T Fieed
3. %o T F et
ST{fed FT A%
THHE | TET AFeT -
Options :
55213161089, | & 270: 3-ds -
55213161090, 1 0: 23 3-d, 4-¢
55213161091, 1°¢- 2-d. 3-D. 4-a

1-e, 2-b, 3-c, 4-d
55213161092.

Question Number : 124 Question Id : 55213115552 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

HEFA o o7 (el |T97 (9FT) % 39 9900 F7

ik W% 2
Options :

55213161093.



2, foremerdtT arga, @agg, @t

55213161094.

forerrerdter ag=, witew, @3, a=Eg

55213161095.

55213161096.

Question Number : 125 Question Id : 55213115553 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

&t et ¥ =fagr F srame a7 = 9w

Options :

l I l: -xl l‘i |E|1, l‘iaaa'lﬁm, é'@_\

55213161097.

TATTH, FIAFTTT LT, T, ATFHT
55213161098.

LA, TSATHT, AHET, Fraa=99 G407

55213161099.

ATFTHT, FEA, FAFT=T 4T, TATHT

55213161100.

Question Number : 126 Question Id : 55213115554 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

THFTIH TT & AATE (HETOTaT [2al ST=TAl F7

R AFH 2-
Options :

gt 9w 3, =T A9 ¥ 7, T a9,

55213161101, OF TIS & AIZH

TTF FAT, TF TT F T2, A1 A9 # ZA,
a9 2

55213161102.

T T AIEA, T ST, S 9T
55213161103, 1T 219 =1 T

ATeT 219 &1 g, TTH ST, TAT 97 2,

55213161104, OF TIH % wZH

Question Number : 127 Question Id : 55213115555 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

THTIH AT F AATE HS (O FTeT-Faa1 57

Options :

55213161105, THEN, A HIAH, TELHAT, GH

Sc213161106, T EATH, L, FHLHST, AU

55213161107, A& IH A, FHIT, FTHOAT



55213161108, ° o

Question Number : 128 Question Id : 55213115556 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
L I I A S %-H-;LHH ﬁ‘ﬂﬁﬁ?mﬁﬂq}ﬁ'a‘q‘

]
Options :

c5913161100. 2TTal, FAIT, TF ST Fror=rs, Freft F1 Forrar

55213161110 nlqéi, Eﬁ?ﬁ'”l"—'ﬂ”‘q, q’*'ﬂﬁi"\, E"J-rgﬁq'a-ruit;la

Frrdy, F1eff =7 e, FAw, TE @ S

55213161111

o=, FAT, TF A7 o, Freft w7 e
55213161112 |

Question Number : 129 Question Id : 55213115557 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

TTHASA ARTIAT T THATAT FT THATHC F AT

Options :



qTEr &1 qA, FTAAEIT A, 99 H U
55213161113, FTATY, Sed JcIl 29 =1l |

TEF IO T T, I F T qAgTE, AT A
55213161114, LT, STATHTE T |

AT AT, A9 | U qiUEE, I2T TAT

55213161115, SE T, AT #7177 |

ATET FT A7, FTAAFL A, SES FAT 52
55213161116, T, T H T ATLHT |

Question Number : 130 Question Id : 55213115558 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

EUTT AT O] F FETAT SAST FT TFIE F1T F
:‘x:'l"{:.'.rqul%--

Options :

55913161117, 3HT, ATUETT, A=A 7T i 7gF, q= A=A
55213161118, ATEIT, I= AT=HT, THA, AT=H T 7T FIF
55213161110, F=5 ATEHT, FAL, Af<w T 1 7gF, ATATT

FaHY, f w6 £ wEw, At a=y A

55213161120. ~

Question Number : 131 Question Id : 55213115559 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

TETI AT & AAATE T ATATHATHT AT FT
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